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QUESTION 1

Which two methods can be used to add a custom Ul panel to a Webex room device? (Choose two.)
A. Import an existing panel configuration file by connecting a USB storage drive to the device.

B. Use xAPI to push a JSON panel configuration to the device.

C. Create a panel using the device Ul Extensions Editor (previously In-Room Controls).

D. Restore a device backup file present on a PC that contains a panel configuration.

E. From a T-shell session, use the git command to merge the XML configuration of a panel.

Correct Answer: AE

QUESTION 2

import requests

det createUser(apiKey, email, tirstName, lastName, displayName) :
url = “https://api.ciscospark.com/vl/people”
headers = {
‘Aunthorization': YBearer " + apiKey,
‘Content-Type’ : “application/json”

}

body = {

}

response = requests.post(url = url, headers = headers, Jjson=kody)

return response

Refer to the exhibit. Which snippet of code does a user with the administrator role use in the missing "body" section to
create a new user in a Webex Teams organization?
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A “displayName”: displayName,
“firstName®”: firstName,
“lastName”: lastName

B. “emails"”: {
email
} r
“"displayName”: displayName,
“firstName”: firstName,
“lastName”: lastName
C. "email”: email,
“displayName”: displayName,
“firstName”: firstName,
“lastName’: lastName
Do wemails”: [
email
] r
“displayName”: displayName,
“firstName”: firstName,
“lastName”: lastName

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 3
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def my function(listOfNumbers, b):
totall = b
total2 = 0

for num in listOfNumbers:
if num < 5:
totall += num
alsa:
total?2 += num

return totall

a = my function(listOfNums, 3)
printi{a)

1istOfNums — [4, 3, 9, 1, 7, 2, 9, 0, 6, 8, 5]

Refer to the exhibit. Which value of "a" is displayed when the Python code is executed?
A. 10
B. 13
C.18
D.21

Correct Answer: B

QUESTION 4

300-835 VCE Dumps | 300-835 Practice Test | 300-835 Exam Questions

4/11


https://www.pass4itsure.com/300-835.html
https://www.pass4itsure.com/300-835.html
https://www.pass4itsure.com/300-835.html

. VCE & PDF https://www.pass4itsure.com/300-835.html
a 2024 Latest passditsure 300-835 PDF and VCE dumps Download

— PassditSure.com

<xsd:element name="“associatedDevices” minOccurs="0” naxOccurs="1">
<xsd:annotation>
<xsd:documentation>Also known as controlled devices.</xsd:documentation>
</xsd:annotation>
<xsd:complexType>
<xsd:sequence minOccurs="0">
<xsd:element name="device” type="axlapi:String50” minOccurs="0" maxOccurs="unbounded’”>
<xsd:annotation>
<xsd:documentation>Name of device.</xsd:documentation>
</xsd:annotation>
</xsd:element>
</xsd:sequence>
</xsd:complexType>
</xsd:element>
<xsd:element name=“primaryExtension” minOccurs="0" maxOccurs="1">
<xsd:annotation>
<xsd:documentation>Only DNs associated with the associatedDevices of the User can be used as primary extension.</xsd:documentation>
</xsd:annotation>
<xsd:complexType>
<xsd:sequence minOccurs="0">
<xsd:element name="pattern” type="axlapi:String255” minOccurs="0" maxOccurs="1">
<xsd:annotation>
<xsd:documentation>DN or Pattern.</xsd:documentation>
</xsd:annotation>
</xsd:element>
<xsd:element name="routePartitionName” type="axlapi:String50” minCccurs="0" maxOccurs="1">
<xsd:annotation>
<xsd:documentation>Route Partition to which the DN is associated.</xsd:documentation>
</xsd:annotation>
</xsd:element>
</xsd:sequence>
</xsd:complexType>
</xsd:element>

Refer to the exhibit. The exhibit shows the XML schema to associate a device for the AddUser operation in AXL. Which
XML snippet is correct to associate a device with name "SEP151515151515"?

A <associatedDevices>
<device name="SEP151515151515%7>
<associatedDevices>

B. <rountePartitionName>
Zdevice>SEP1515151518156</daevice>
< /rontePartitionName>

C. <rountePartitionNName>
<device name=“SEP151515151515%7>
</rontePartitionName>

D. <associatedDevices>
<device>»SEP151515151515</device>
<associatedDevices>

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 5
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Which statement describe the function of the perfmonCollectCounterData operation used in the Cisco Unified
Communications Manager Serviceability Perfmon API?

A. It returns the Perfmon data for all counters that belong to an object on a particular host.
B. It collects files from RTMT.

C. It collects the Perfmon data for all counters that have been added with perfmonAddCounter to the session handle
returned from perfmonOpenSession.

D. It returns the list of available Perfmon objects and counters on a particular host.

Correct Answer: A

QUESTION 6

When the behavior of a Cisco collaboration device is customized, which use case requires an external control system
because implementing JavaScript macro does not suffice?

A. Add a Join Webex meeting button to the touch panel.
B. Move the shutters up and down.

C. Trigger a "room-reset" to restore default configurations.
D. Implement an in-room control panel for speed-dialing.

Correct Answer: D

QUESTION 7

1 POST /WBXService/XMLService/LstsummaryUser HTTP/1.1

2 Content-Type: application/xml

3 Host: api.webex.com

4 Content-Length: 974

5

6 <?xml version="1.0"” encoding="UTF-87?>2 <serv:message xmlns:serv="http://wwww.webex.com/schemas/2002/06/service”
7 xmlns:xsi="http://www.w3.org/2001/XMLSchema-instance”>

8 <header>

9 <securityContext>

10 <siteName>apidemoeu</siteName>

11 <webExID>janedoefexample.com</webExID>

12 <sessionTicket>AAABb5SLTCGCARBUYADGAKEgyU</sessionTicket>

13 </securityContext>

14 <action>java:com.webex.service.binding.meeting.LstsummaryUser</action>
15 </header>

16  <body>

17 <method>java:com.webex.service.binding.meeting.LstsummaryUser</method>
18 <bodyContent xsi:type="java:com.webex.service.binding.meeting.LstsummaryUser”>
19 <webExId>{ {WEBEXID) }</webExId>

20 </bodyContent>

21  </body>

22 </serv:message>

Refer to the exhibit. A Webex Meetings XML APl HTTP request message with several invalid portions is shown. Which
reference points to a line in the exhibit that correctly indicates that this is a LstsummaryUser request?
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A.line 17
B. line 1

C.line 18
D. line 14

Correct Answer: B

QUESTION 8

Refer to the exhibit. Based on the schema diagram in the exhibit, which two XML objects are valid AXL request
elements? (Choose two.)
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A. <soapenv:Body>
<ns:getPhone sequence="1">
<namae>ROT2093342038< / nama™>
<returnedtags><model /></returnedtags>
</ns:getPhone>
</soapenv:Body>

B. <soapenv:Body>
<ns:getPhone>
<name>BOT20%93420%8</name>
<returnedTags><model /></returnedTags>
</ns:getPhone>
< /soapenv:Body>
C. <soapenv:Body>
<ns:getPhone>
<name>HUT20934209%8</name>
<uuid>{2B1931A2-3FC2-A0C2-7282-B8BB5A6356A0)}</mid>
</ns:getPhone>
</soapenv:Body>

D. <soapenv:Body>
<ns:getPhone secuence="1">
<mid>{2B1931A2-3FC2-A0C2-T282-BB8BBLAG356A0 < /uuid>
</ns:getPhone>
< /soapenv:Body>

E <soapenv:Body>
<ns:getPhone sequence=7"1">
<name>BOT209342098</name>
<returnedTags>All</returnedTags>
</ns:getPhone>
</soapenv:Body>

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: E

QUESTION 9

What are two keys features of Cisco Unified Communications Manager Serviceability APIs? (Choose two.)
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A. save alarms and events for troubleshooting
B. connect to serial console on phone hardware
C. configure firewall rules on phone hardware
D. scan servers and devices for malware

E. real-time monitoring of components

Correct Answer: AE

QUESTION 10

DRAG DROP

A small Python script is constructed that creates a Webex Meeting for John Doe scheduled for the current time. Drag
and drop the code snippets at the bottom onto the areas of the source code exhibit to create a program. Not all options

are used.

Select and Place:
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Answer Area

import requests, datetime

timestamp = datetime.datetime.now()

startDate = timestamp.strftime (‘%m/3d/%Y %H:%M:%5')
xml = £''’<message><header><securityContext>

</securityContext></header>
<body><bodyContent xsi:type=“java:ccm.webex.service.binding.meeting.CreateMeeting”>

<siteName>apidemoeu</siteName>

<webExXID>johndoefexample . com< /webExID>
<token>AARBbSKM1UYAOgAKEkd fUOhRBM JU2XOFMRO9SSVRITVE=</token>

<schedule><startDate>(startDate)</startDate></schedule>

</bodyContent></body></message>’ '
print (requests.post (‘https: //api.vwebex.com/WBXService/XMLService’ , xml))

<metaData>
<confName>Sample Meeting</confName><meetingType>105</meetingType>

</metaData>

<siteMamerapidemocu</siteName>
<webExTD>johndoefexample . com</webExTD>
<sessionTicket>AAABbSKM] UYAOgAKEkdfUOhBM jU2XOFMRO9SSVRITVE=</sessionTicket>

<metaData>
<confName>Sample Meeting</confName><meetingType>Training Center</meetingType>

</metaData>

Correct Answer:
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Answer Area

import requests, datetime

timestamp = datetime.datetime.now()

startDate = timestamp.strftime (‘%m/%d/%Y %H:%M:%5')
xml = £''’<message><header><securityContext>

<siteName>apidemoeu</siteName>
<webExID>jchndoefexample. com</webExTD>
<sessionTicket>AAABbBSKM]UYAOgAKEKdAfUOhBM jU2XOFMRO9SSVRITVE=</sessionTicket>

</securityContext></header>
<body><bodyContent xsi:type=“java:ccm.webex.service.binding.meeting.CreateMeeting”>

<metaData>
<confName>Sample Meeting</confName><meetingType>105</meetingType>

</metaData>

<schedule><startDate> (startDate)</startDate></schedule>
</bodycontent></body></massage>"" "
print (requests.post ( ‘https://api.webex. com/WBXService /XMLService’ , xml))

<siteName>apidemoeu</siteName>
<webExXID>johndoefexample . com< /webExID>
<token>AAABLSKM1 UYAOgAKEkdfUORBM jU2XOFMRO 9S88VRITVE=</token>

<metaData>
<confName>Sample Meeting</confName><meetingType>Training Center</meetingType>
</metaData>
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